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REVISION MOCK B ANSWERS

SECTION A

1 D

Directors are placed in control of resources that they do not own and are effectively agents
of the shareholders. They should be working in the best interests of the shareholders.
However, they may be tempted to act in their own interests, for example by voting
themselves huge salaries. The background to the agency problem is the separation of
ownership and control — in many large companies the people who own the company (the
shareholders) are not the same people as those who control the company (the board of
directors).

2 B

The length of the operating cycle is 52 + 19 + 14 — 40 + 31 = 76 days

3 B

Let O = ordering cost

185 = V{[ 2 x O x (4 x 2,000) ] + [0.05 x 42]}
185 = V(16,000 x O + 2.1)

O =185%x 2.1+ 16,000 = $4.49

Note that the period for demand must be the same as that given for holding cost.
As holding cost is given as an annual figure quarterly demand must be converted to annual
demand by multiplying by 4.

4 C

The $7,500 and $310,000 are future incremental cash flow figures so are relevant.
The $7,000 is sunk (past) cost so it is not a relevant cost.

5 B

The return on capital employed and the gross profit percentage would assess profitability
and the gearing would assess financial risk.

6 A
1=Ke
2
c 2=WACC
=
i :
5 | 3=kd

Debt/Equity
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7

10

11

12

13

Reducing mortality rates is likely to be a stated objective of the hospital and as such is a
measure of output, or effectiveness.

C

Statement A describes a contractionary fiscal policy.
Statement B describes an expansionary monetary policy.

Statement C is correct: fiscal policy refers to the balance of taxation and government
spending. In an effort to boost demand, the government would reduce taxes and increase
government spending.

Statement D describes a contractionary monetary policy.

The outcome of a simulation is likely to be a spread/ range of possible outcomes and
usually a probability distribution associated with those outcomes. It is not an ‘optimising’
technique i.e. the output of a simulation is designed to better inform the decision maker,
but there is no clear ‘invest/don’t invest’ decision rule to apply. It does consider many
variables changing together and presents a range of possible outcomes with associated
probabilities so statements A, C and D are all true.

C

A is the Gordon growth model.
B is as a result of assuming that a perfect capital market exists; it is not a conclusion.
D contradicts the dividend valuation model, which is not disputed by M&M.

The correct answer is C.

A

Using PPT, the exchange rate in 1 year = 1.5000 x (1.06/1.05) = 1.5143
USD 10,000 then equates to 10,000/1.5143 = GBP 6,604.

A

Answer B describes ljara
Answer C describes Mudaraba

Answer D describes Musharaka

A

Both statements are true.

KAPLAN PUBLISHING
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14 B

As the production results of the two products both have positive NPVs under any scenario,
the company would like to produce them both, but as they are mutually exclusive, they
cannot both be produced — the machinery can only work on one product at a time.

The company should therefore choose to produce whichever product has the higher
average NPV, calculated using expected values.

Product X NPV $ Probability (%) Expected value
3,000 10 300
3,500 20 700
4,000 40 1,600
4,500 20 900
5,000 10 500

Total X = $4,000

Product Y NPV $ Probability (%) Expected value
2,000 5 100
3,000 10 300
4,000 40 1,600
5,000 25 1,250
6,000 20 1,200

Total Y = $4,450

15 B

Government expenditure on goods and services is influenced by fiscal policy, not monetary
policy.
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SECTION B

16

17

18

19

20

21

C

Cost of financing = receivables balance x overdraft rate
Current cost of financing = $4,500,000 x 8% = $360,000
New cost of financing = $4,500,000 x 50% x 6% = $135,000
Saving = $360,000 — $135,000 = $225,000

D

Receivables days = receivables/sales x 365 — rearrange equation:
Receivables = days x sales/365

Must split sales 60%:40% for the different days

30 day receipts receivables = 30 x $20,000,000 x 60%/365 = $986,301
60 day receipts receivables = 60 x $20,000,000 x 40%/365 = 51,315,068
Total receivables = $986,301 + $1,315,068 = $2,301,369

$2,301,000 to nearest S000

D

number. of periods _ 1

Annual cost = [1 + (discount/amount left to pay)]
No. of periods = 365/no. of days earlier the cash is received
No. of periods = 365/(82 — 30) = 7.02

Discount = 1, left to pay = 99

Annual cost = [1 +(1/99)] "% - 1=0.073 =7.3%

The invoice to the customer will contain payment details for the factor rather than the
supplier so customers will know that they are paying the factor rather than the supplier.
The other statements are true.

C

While offering discounts may be desirable for some businesses it is not a key aspect of
credit policy.

C

Current earnings = 5,000 x $7 = $35,000

Adjust for non-sustainable item. Director’s salary will change going forward — reduce to
reasonably expected level and take tax increase on reduced salary level into account

Addition to earnings = $60,000 x (1 —0.3) = $42,000
Sustainable earnings for P/E valuation = $35,000 + $42,000 = $77,000

KAPLAN PUBLISHING
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22

23

24

25

Valuation = P/E ratio x earnings

No direct ratio given, use proxy average P/E ratio from listed company =9
Valuation = 9 x $50,000 = $450,000

Reduce by 20% to reflect lower marketability of unlisted company shares

$450,000 x 80% = $360,000

A

Net realisable values are useful as a minimum rather than a maximum for the seller as it
tells them what they could potentially receive if they couldn’t find a purchaser and sold the
assets off instead.

If the business is not a going concern then it is unlikely a purchaser could be found and the
assets may well end up being sold off. If a purchaser is found they would be unlikely to pay
more than this value.

If the intention of a purchaser is to strip the business’s assets after purchase then they
would not want to pay more than the value of those assets.

If the business is a property investment company then the majority of its value will come
from its property assets. Using net realisable values, i.e. market values, would therefore be
an appropriate basis of valuation.

PO=Do (1+g)/(ke—g)

Do = this year’s dividend of $2.10 per share

Ke = 12% (0.12)

Growth = d1/d0 = $2.205/$2.10 — 1 = 0.05 (5%)
PO=52.10x 1.05/(0.12 — 0.05) = $31.50

NB the same answer is found by using D1 directly instead of dO (1 + g)

C

Free cash flows represent the cash flows that all investors have access to on an ongoing
basis — hence normal business expenses and tax are deducted in its calculation.

Also deducted are cash flows that the business will need to spend to maintain operations at
an appropriate level. Hence deductions are made for ongoing investment in non-current
assets and working capital. Investors cannot appropriate these cash flows for themselves
as the business needs them to maintain this appropriate level of operations.

However, distributions to investors are not deducted as investors do have access to these
cash flows. This means that interest to debt holders and dividends to equity holders are
not deducted.
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26

27

28

29

30

A

Zigzag will be selling Euros to the bank to get pounds in return. The rate is a spread quoted
in Euros and the bank buys high — hence the appropriate exchange rate for the forward
contract is the 1.990 rather than the 1.890.

500,000/1.990 = $251,256 received by Zigzag.

D

Expected receipt after six months = €500,000
Euro interest rate over six months = 5% x 6/12 =2.5%

Euros to borrow now in order to have €500,000 liability after six months = €500,000/1.025
= €487,805

Spot rate for selling Euros today = €2/51
Dollar deposit from borrowed euros at spot rate = €487,805/2 = $243,903

A

Using purchasing power parity theory:

5, = 5, x UHhe)
(1+hy)

Where:

So = current spot rate

S:1 = expected future spot rate

h, = inflation rate in country for which the spot is quoted (base currency)

h. = inflation rate in the other country (counter currency)

Sy = 2.00 x 1.03/1.045 = €1.971/$

As the contracts are denominated in Euros, Zigzag should think about what it wants to do
with Euros. In 6 months’ time, Zigzag will receive Euros from its customer and will sell them
to buy S. To mitigate the effect of the exchange rate moving, it will want to offset the sale
of Euros by buying back at the same time the Euro futures contracts.

This means that Zigzag should sell the Euro futures contracts now and then buy them back
on close out.

C

Call options give the right to buy currency at a fixed rate and put options give the right to
sell currency at a fixed rate. As the options are in Euros, Zigzag must think about what it
wants to do with Euros.

When it receives the €500,000 from its customer, it will want to sell them for S. It therefore
needs a put option to fix the sale price of the Euros.

KAPLAN PUBLISHING
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SECTION C

31

GOLIATH CO

Key answer tips

There are easy marks to be had within part (a) by following the NPV proforma approach, in
particular to ensure that errors in tax treatment don’t occur.

Part (b) requires the candidate to explain two different approaches to calculating NPV.
Note the conclusion that whichever method is used, the NPV should be unaffected (except
for rounding differences).

In part (c) getting the timings right is crucial. Most students will include the one year delay
in tax savings but won’t realise that as the first tax benefit accrues at time period 1, the
benefit in cash flow wont’ be seen until time period 2.

(a)

<>
k:d

Tutorial note:

The NPV proforma approach will help to ensure e.g. working capital and scrap proceeds are
not part of operating cash flows. Care must be taken when calculating incremental working
capital.

0 1 2 3 4 5

$S000 $S000 $S000 S000 S000
Sales revenue (W1) 6,084 6,327 6,580 6,344
Variable costs (W2) (2,374) (2,504) (2,642) (2,787)
Fixed costs* (263) (276) (289) (304)
Cash flow before tax 3,447 3,547 3,649 3,753
Taxation (689) (709) (730) (751)
TA depreciation (W3) 250 188 141 372
Capital cost/scrap (5,000) 250
Working capital (W4) (500) (24) (25) (26) (27)
After-tax cash flow (5,500) 3,423 3,083 3,102 3,387 (379)
Discount at 12% 1 0.893 0.797 0.712 0.636 0.567
Present values (5,500) 3,057 2,457 2,209 2,154 (215)
NPV 4,162

This project has a positive NPV which indicates it should be undertaken.

*Fixed costs are inflated by 5% year on year.
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Workings

(W1) Sales revenue

Year 1 2 3 4
Selling price ($/unit) 676.00 703.04 731.16 760.41
Sales (units/year) 9,000 9,000 9,000 9,000
Sales revenue ($000/year) 6,084 6,327 6,580 6,844
(W2) Variable costs
Year 1 2 3 4
Variable costs (S/unit) 263.75 278.26 293.56 309.71
Sales (units/year) 9,000 9,000 9,000 9,000
Variable costs (5000/year) 2,374 2,504 2,642 2,787
(W3) Tax-allowable depreciation
Year Tax-allowable Tax benefit (S)
depreciation
($000)
5,000
1 (1,250) (5,000 x 0.25) 250 (0.2 x 1,250)
(937.5) (3,750 x 0.25) 188 (0.2 x 937.5)
(703.1) (2,812.5 x 0.25) 141 (0.2 x 703.1)
2,109.4
(250) (scrap value)
4 1,859.4 372 (0.2 x1,859.4)
(W4) Working capital
Year 0 1 2 3 4
Total working capital 500 523.50 | 548.11 | 573.87 | 600.84
Incremental (nearest $000) 500 24 25 26 27

Note the incremental figure is taken from the increase in each year and then
rounded as appropriate. It would also be acceptable to look at the overall
increase required and decide that in year 2, for example, would also be 24.

Working capital is not refunded at the end of this project as the machine will
be replaced, so it is assumed that this working capital investment will continue.

10
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(b) Money terms and real terms

<>
K

Tutorial note:

The golden rule is to discount real cash flows with the real cost of capital, and to discount
nominal (money) cash flows with the nominal (money) cost of capital.

A nominal (or money) terms approach to investment appraisal uses a nominal cost of
capital to discount the nominal cash flows associated with the project. Nominal cash
flows are obtained, by using forecast inflation rates and current price levels or
estimates. Different cash flows may be inflated at different rates. Sometimes this is
referred to as specific inflation.

A real terms approach to investment appraisal uses a real cost of capital to discount
the real cash flows associated with the project. Real cash flows can be obtained by
deflating the nominal cash flows by the general rate of inflation, or by using the
current level or estimate. The real discount rate can be found by using the following
equation:

(1+i) = (1+4r) (1+h)
Where h = rate of inflation
r = real rate of interest
i = nominal (money) rate of interest

Whichever approach is used, the net present value will be the same because nominal
cash flows and the nominal cost of capital are both discounted by the general rate of
inflation to obtain real cash flows and the real cost of capital.

(c) Lease cost

Calculate the present value of leasing by discounting the lease cash flows and the
associated tax savings at the post tax cost of borrowing. As the first lease payment is
in advance at the start of an accounting period (stated specifically in the question)
the first tax saving will be a year after the accounting period end, i.e. at time period

2.
Tax

Lease Lease cost savings NCF d.f. 8% PV

t0 (1,350,000) (1,350,000) 1.000 (1,350,000)
t1 (1,350,000) (1,350,000) 0.926 (1,250,100)
12 (1,350,000) 270,000 (1,080,000) 0.857 (925,560)
3 (1,350,000) 270,000 (1,080,000) 0.794 (857,520)
t4 270,000 270,000 0.735 198,450
t5 270,000 270,000 0.681 183,870

(4,000,860)
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Alternatively you could treat the cash flows as two annuities to speed up the
calculations, with the lease payments as an advanced annuity starting at t0 and the
tax savings as a delayed annuity starting at t2.

As the lease cost is $4,000,860 it is cheaper than the purchase present value given in
the question of $4,097,000 and Goliath Co should choose to lease the asset.

Marking scheme
Marks
(a) Inflated selling price per box 0.5
Sales income 0.5
Inflated total variable cost 0.5
Inflated incremental fixed costs 0.5
Tax liability calculation 0.5
Tax liability timing 0.5
Tax-allowable depreciation 3
Incremental working capital investment 1
Purchase cost 0.5
Scrap value 0.5
Discount at 12% 1
NPV 1
Comment on financial acceptability 1
Maximum 11
(b) Discussion of nominal terms approach 1-3
Discussion of real terms approach 1-3
Maximum 4
(c) Lease cash flows value and timings 1
Tax saving cash flows value and timings 1
Discount factors 8% 1
Present values and total PV 1
Decision to lease instead of buy 1
Maximum 5
Total 20

12 KAPLAN PUBLISHING
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32 OXFIELD CO

Key answer tips

These are fairly standard requirements for this syllabus area with a mix of both calculations
and discussion on WACC and CAPM. The trickiest element is picking out the relevant figures
to use in the workings and discarding irrelevant information. In part (c) make sure you
answer the question — it isn’t just about how gearing affects WACC but about how it affects
business valuation.

(a) Cost of equity using dividend growth model
The average dividend growth rate in recent years is 7%:
(28.8/23.5)*** —1 = 0.07 or 7% per year
Using the dividend growth model:

_ DO(1+9)+g

Ke
Po

=[(28.8 x 1.07)/(2.10 x 160)] + 0.07 = 0.1617 or 16.17%

Cost of preference shares
Kp = Do/Po
=[8/85] x 100 = 9.41%
After-tax cost of debt of loan notes
Kq4 = IRR of relevant cash flows from the company’s perspective.
The annual after-tax interest payment is 7.2 x 0.79 = $5.69 per loan note.

Using linear interpolation:

Year Cash flow S 5% PV (S) 10% PV (S)
Discount Discount

0 Market value (97) 1.000 (97.00) 1.000 (97.00)

1-3 Interest, after tax 5.69 2.723 15.49 2.487 14.15

3 Redemption 105 0.864 90.72 0.751 78.86

9.21 (3.99)

After-tax cost of debt ky =5 + [((10—5) x 9.21)/(9.21 + 3.99)] = 8.49%
Calculation of the WACC

Market values

Market value of equity = 160m x 2.10 = $336 million

Market value of preference shares = 12m x 0.85 = $10.2 million
Market value of 7.2% loan notes = 67m x (97/100) = $64.99 million
Total market value = 336m + 10.2m + 64.99m = $411.19 million

WACC = [(16.17 x 336) + (9.41 x 10.2) + (8.49 x 64.99)]/411.19 = 14.8%
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(b)

Assumptions/explanations

(i)
(ii)

(iii)

(iv)
(v)

(vi)

The formula for k. assumes that future growth in dividends will be constant.

The use of 7% for the growth rate assumes that past growth will be continued
in the future.

In the ky calculation it has been assumed that the annual cash flows are
allowable deductions for tax and that there is no delay on the tax relief.

Tax is assumed to remain at 21% for the next three years.

That the current share price is fair and not distorted by short-term market
factors.

That the dividend valuation model is valid, i.e. that investors are solely judging
their investment value in terms of the future dividends it entitles them to.

Basis of weightings

(i)

(ii)

CAPM

Both costs of capital (ke, k, and kq) and the WACC have been calculated using
current ex-dividend (ex-interest) market values, rather than statement of
financial position/nominal values.

This is to ensure that a current market cost of finance is determined, rather
than an historic cost. Ideally a future WACC is needed to discount future
project cash flows, and the current WACC based on current market rates is the
best estimate for this.

CAPM could have been used to estimate a project-specific k. if the project activities
were different from that of the company. This could then have been used to
calculate a project-specific WACC.

The method for this would have been as follows.

(i)

(ii)
(iii)
(iv)

Find a listed company with activities similar to those of the project.
Look up its beta factor.

Adjust for gearing if necessary.

Put into the CAPM equation:

Project ke =ri+ B (rm, —ry)

Note: r; could be calculated by looking at yields on Government gilts.

rm could be calculated by looking at movements on the FT all share index.

14
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(c) M&M’s gearing theories

<>
K

Tutorial note:

Note that there are only 5 marks available for this section. Aim to make 5 good points while
covering the question requirement.

Modigliani and Miller have two theories on how the gearing level of a company
affects its WACC value. As the value of a business can be determined by its future
cash flows discounted using its WACC, the lower the WACC value, the higher the
business value will be.

In their first theory from 1958, they made the assumption that there was no taxation.
This theory postulated that the WACC lowering effect of including a higher
proportion of cheaper debt as the gearing level increases is exactly offset by the
WACC raising effect of a rise in value of ke due to equity investors seeing higher risk
for their investment at higher gearing.

M&M’s conclusion here was that WACC and therefore business value is independent
of gearing level.

In their second theory from 1963, the only change to their assumptions was that the
inclusion of debt in the capital structure now leads to tax savings on interest
payments and hence debt is even cheaper for the company than in their no tax
theory.

The effect of this is that the inclusion of more debt always brings the WACC down
and the business value up and so companies should gear up as much as possible to
maximise their business value.

KAPLAN PUBLISHING 15
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Marking scheme

(a)

(b)

(c)

Total

Calculation of historic dividend growth rate

Calculation of cost of equity using DGM

Calculation of cost of preference shares

Calculation of after-tax cost of debt, using linear interpolation
Calculation of market values

Calculation of WACC

Assumptions/explanations (0.5 marks each) to max

Basis of weightings

CAPM used for project specific Ke

CAPM equation

Proxy beta needed

Degear and regear the beta for financial risk

Link WACC to business value
M&M no tax theory
Conclusion

M&M with tax theory
Conclusion

16

KAPLAN PUBLISHING




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


